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Note : Answer questions from all sections as per instructions. 

SECTION - A 

Attempt any two questions from this section in 

about 500 words each : 	 2x20=40 
1. How do you derive the IS and LM curves ? What 

do they signify ? 

2. What is meant by an indifference curve ? Explain 

with the help of a diagram how a consumer attains 

equilibrium. 

3. Explain different forms of market. How does a 

firm achieve equilibrium in a perfectly competitive 

market ? 

4. Explain the output method of estimating national 

income. What are the limitations of GDP as a 

measure of performance of the economy ? 
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SECTION-B 

Answer any three questions from this section in 

about 250 words each. 	 3x10=30 
5. What do you mean by demand for money ? 

Describe keyne's different motives for holding 

money. 

6. What is meant by inflation ? How is it related to 

unemployment ? 

7. Can a monopolist incurlosses in the short-run ? 

Explain through appropriate diagram. 

8. Explain the theory of comparative cost advantage. 

9. Explain the concept of deflationary gap with the 

aid of a diagram. 
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SECTION-C 

Answer all questions in this section as indicated. 
2x15=30 

10. Explain any three of the following concepts : 3x5=15 

(a) Consumer surplus 

(b) Investment multiplier 

(c) Stagnation 
(d) Oligopoly 
(e) Circular flow of income 

11. Distinguish between any three of the following : 3x5=15 

(a) Fixed cost and Variable cost 

(b) Autonomous investment and Induced 

investment. 
(c) Average propensity to consume and 

Marginal propensity to consume. 

(d) Monopoly and Monopolistic competition 

(e) Stock variable and Flow variable 
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